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A compound curve consist of 2arcs of different radii bending In
the same direction and lying on the same side of their common
tangent. Then the center being on the same side of the curve.

R, = Smaller radius

R, = Larger radius

Tg=smaller tangent length = IT1 \‘
Tl=larger tangent length = IT2 \

A1= deflection angle b/w common
tangent and rear tangent

A2= angle of deflection b/w common
tangent and forward tangent

D = point of compound curvature MN A a DY B
= common tangent 0] 4
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Question:1

A compound curve ,consisting of two simple
circular curves of radii 350m and 500m ,is to be
laid out between two straights .The angles of
Intersection between the tangents and the two
straights are 25° and 55°.Calculate the various
elements of the d compound curve






Question-2

The centre line of a new railway line Is to be set out along a valley.
The first straight Al bears 75°,whilst the connecting straight 1B
bears 120°,Due to site condition it has been decided to join the

straights compound curve.

The first curve of radius IS commences at T1,Situated 300m from
| on straight Al, and deflects through an angle of 25°before joining
2nd curve. calculate the radius of the 2" curve and distance of

tangent point T, from | on the straight IB.






Question no:3

Two tangents AB and BC intersect at B ,another line DE
Intersect AB and BC at D and E such that angle
ADE=150° and angle DEC =140°.The radius of curve Is
200m and that of 2" js 300m.Chainage of B is
950m.Calculate all data necessary for setting out the
curve.









Compound Curves

Problem: Two tangents AB & BC are intersected by a line KM. the
angles AKM and KMC are 140° & 145° respectively. The radius of
15t arc is 600m and of 29 arc is 400m. Find the chainage of
tangent points and the point of compound curvature given that
the chainage of intersection poinfis 3415 m.

Solution:

a = 180° — 140° = 40°

B =180°— 145°=35°

Pp=a + f=75°

I=180°-75°=105°

KT,=KN =R, tan (%) = 600 tan(40°/2)
KT,=KN=218.38m

MN = MT, = R, mn@ = 400 tan(35°/2)
MN = MT, =126.12 m

KM = MT, + MN =218.38 +126.12
KM = 34450 m




Compound Curves
Solution:

Fin ABKM, by sin rule
BK _ MK
sin g sin(n)

_ MKSIN B 344.50 x sin35°

BK : - =204.57m
sin(n sin 105°
BM = Mf{ Sia _ 344.570 x 51'1:4[!” 97095 m
sin(r) sin 105 1,
;"'ll \
T, =KT, +BK=218.38 +204.57=42295m f,-f’f W‘K ~ 12
T=MT,+BM=126.12 +229.25=355.37m f 1\\ V \
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Compound Curves

Solution:

Chamage of mtersection point =3415m
Minus T, = -42295m
Chamage of T, =2992.05m
Plus L =+ 418.88 m
Chainage of compound curvature (N) =3410.93m
Plus L, =+ 24435 m
Chamage of T, =365525m
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